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1. If Na reacts with element X to form an ionic compound with the formula Na3X, then Ca will react with X to form 

(a) CaX2
(b) CaX
(c) Ca2X3
(d) Ca3X2
(e) Ca3X
2. What is the coefficient of M when the following equation is completed and balanced if M is an alkali metal?

M(s) + H20(l)  ————> 
(a) 1
(b) 2
(c) 3
(d) 4
(e) 1/2
3. What is the valence shell electron configuration of the halogens?
(a) ns2np6
(b) ns1
(c) ns2
(d) ns2np5
(e) ns2np3
4. Which one of the following contains no d electrons?  

(a) Ca
(b) Sn
(c) Ge
(d) Pb

(e) Ru
5. Which one of the following atoms has the largest radius? 

(a) 0
(b) F
(c) S
(d) Cl
(e) He

6. Which one of the following atoms has the largest radius?
(a) Sr
(b) Ca
(c) K
(d) Rb
(e) H
7. Which one of the following elements has the largest atomic radius?

(a) O
(b) F
(c) Al
(d) P

(e) N
8. In which choice below are the elements ranked in order of increasing first ionization energy? 

(a) P, Cl, S, Al, Ar, Si
(b) Ar, Cl, S, P, Si, Al
(c) Al, Si, P, S, Cl, Ar
(d) Al, Si, S, P, Cl, Ar
(e) Ar, Si, S, P, Cl, Al
9. Which one of the following elements has the largest first ionization energy? 

(a) K
(b) Rb

(c) Sr
(d) Ca

(e) Cs

10. Which one of the following elements has the largest second ionization energy? 

(a) K
(b) Rb
(c) Sr
(d) Ca
(e) Ba
11. Which one of the following elements has the largest third ionization energy? 

(a) As
(b) Sc
(c) Ti
(d) Ca
(e) V
12. The _______________ have the most negative electron affinities.
(a) alkaline earth metals
(b) alkali metals
(c) halogens
(d) transition metals

13. The trend for electron affinity going left to right across a period of main-group elements is best described as
(a) becoming linearly more exothermic
(b) becoming linearly less exothermic
(c) becoming generally more exothermic, but with considerable interruptions due to electron-configuration effects
(d) becoming generally less exothermic, but with considerable interruptions due  to electron-configuration effects
(e) remaining essentially constant
14. Which one of the following elements has the largest (most exothermic) electron affinity?
(a) S
(b) Cl
(c) Se
(d) Br
(e) Be
15. The oxide of which element below can react with hydrochloric acid?
(a) sulfur
(b) selenium
(c) nitrogen
(d) sodium
(e) carbon
16. Which one of the following pairs contains a halogen and an alkaline earth element?
(a) S, Na
(b) Cl, Mg
(c) 0, Ca
(d) F, Cs

(e) Co, Fe
17. Which of these is an inner transition element? 

(a) Sc
(b) U
(c) Zn
(d) Ga
(e) Ge

 18. Which one of the following elements is the most metallic?
(a) Mg
(b) Na
(c) K
(d) Al
(e) At

19. Which of these oxides is most acidic? 

(a) CO2
(b) SiO2
(c) Al2O3
(d) SO2
(e) K2O
20. Which one of the following compounds would produce a basic solution when dissolved in water?

(a) SO2
(b) Na2O
(c) CO2
(d) OF2
(e) NO2
21. Which one of the following metals is most likely to form several different positive ions? 

(a) Al
(b) Cs
(c) V
(d) Ca
(e) Mg
22. This element is more reactive than lithium and magnesium but less reactive than potassium. This element is
(a) Na
(b) Rb
(c) Ca
(d) Be

23. Which one of the following is not true about oxygen?

(a) the most stable allotrope is O2
(b) ozone is toxic whereas O2 is not
(c) dry air is about 80% oxygen
(d) it forms two unstable ions, peroxide and superoxide
24. Which one of the following groups contains only nonmetals?
(a) 1A
(b) 2A
(c) 6A
(d) 7A
(e) 5A
25. Which one of the following elements has an allotropic form that is produced in the upper atmosphere by lightning?
(a) N
(b) O
(c) S
(d) Cl
(e) He
